LI: To count across positive and negative numbers.
I will be successful if…
	I know what positive and negative numbers are.
	

	I remember to put a – sign on my negative numbers.
	

	I know that when I add to a negative number I count towards 0
	

	I know when I cross 0 when taking away the numbers get bigger.
	


You do…


1. 7 – 12 =
2. 4 + 7 = 
3. -3 – 5 =
4. -10 + 12 = 
5. 6 – 4 = 
6. -19 + 21 = 










Challenge…






Order these temperatures from coldest to warmest
7       -2        8       2      -4       -8        -1         9 
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Varied Fluency

Negative Numbers

5a. Write the numbers below on the
number line.

éa. If the temperature in Leeds is 1
and the temperature in Helsinki is -13°C,
what is the difference between the two

temperatures? Use the number line to

7a. Identify the coldest temperature in
each set of data and mark it on the
number line below.

-28 30 -21 17

9 21 17 23 29 -21

-10 28
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Negative Numbers

5b. Write the numbers below on the
number line.

-22°C, what is the difference between the
two temperatures? Use the number line to

7b. Identify the coldest temperature in
each set of data and mark it on the
number line below.

A |-17 12 12
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Challenge:

6a. Ben had £28 in his bank account. On
Tuesday, his phone and broadband bills
came out. His bank account is now -£16.
It the phone bill was £25, how much was
Ben's broadband bill?

Use the number line below for support.





